


GENERAL INSTRUCTIONS TO THE EXAMINEES :
(1) whemefi geuem v TeT- W A farda: ford | :
Candidate must write first his / her Roll No. on{]%e question paper compulsorily.

@) wft v w0 AfER E |

All the questions are comP
3) mmmma %ﬂ'@%@l

Write the answer to ach question in the given answer-book only.

(4) NI arafe @ve €, 37 9+t % I v gy g A |
For questions having more than one part, the answers to those parts are to be Write,
together in continuity. /'
(5) YE-TI %R T aﬁﬁwwﬁmmﬁgﬁ/m/ﬁﬂm@i“%ﬁma;m \
! EE A |

If there is any error / difference / contradiction in Hindi & English version of the

question
paper, the question of Hindi version should be treated valid.
(6) TR 1 IR forEs A T T 1 AT I1aed ot | o
Write down the serial number of the question before attempting it.
[Ty
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(i) ﬁw%ﬁgaﬁaq&wﬁqwmﬁ

(31) g e
(W) et @) e
In which of the following perisperm is found 9 1
(A) Beetroot (B) Pea Y £
(C) Groundnut (D) SUnﬂ_Q"‘@;a =
" , o X L0 RO
(iii) ?:ﬁmﬂaﬁﬁmn T wméywéﬁ?%ﬁmxoéﬁﬁ

(37) =1 fiigm (O e
(@) Sereiftr R gy

In which chromosoma] disorder ,@&ie X
:é_.:

£
i

Chromosom :
. e
chromosome s as X0 ? Y !

missing and the sex

(A) Down’s Syndrome (B) Klinefafa.s
(C) Thalassemia (D) Ume:itzr : Sif:jzome
(iv) I g HN g -
(31) Wi () wim
(|) Ry @) urpfy
Purine nitrogenous base is - | ‘ y |
(A) Cytosine (B)  Adenipe & 15, 5 ‘
(C) Uracil (D) Thymine I
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(v) Erfara T 1 WThe & —

(31) 3t (9) Uehig
(#) reiars Hiy (7) wiHifem
- The Pathogen of elephantiasis is - 1
(A) Amoeba (B) Ascaris
(C) Filarial worm (D) Plasmodium
(vi) Torelt =BifRment & qof urew S 21 i armar et 2 -
(31) gewaey (F) IR G
(|) Hehtor (7) qofsTeRTaT
The capacity to generate a whole plant from any cell is called 1
(A) Micropropagation (B) Somatic hybridisation
(C) Hybridisation (D) Totipotency
(vii) 1 & S g frsrer whieror & 8 gepdt 2 7
(31) weifen (a’) Sy
(|@) ST m%%@% -
Which fever could be confirmed by WIdal tes 1

(A) Malaria @ yBengue

(C) Corona ?j§§ (D) Typhoid

(viii) @Ter *ge # & uTeHi 1 Wi g1 8
(31) 3IIeH (9) Sufhe Iuwier
(@) fecdiaes Susier (3) I9ueH -
The status of green plants in the food chain is - | - _' | 1
(A) Producer (B) Primary Consumer N
(C) Secondary Consumer (D) Decomposer
(ix) =9 W N S 3h1E Hurd & geper HiF H FRiBa wmr e 2
(31) I-Ac (¥) I-Ab
(@) T-Ac (@) T-AcT II-Ab
Which protein gene cry is controlled the cotton boll worm ? 1
(A) I-Ac | B) I-Ab
(C) II-Ac (D) I-Acand II-Ab
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2. P S ofd e

Fill in the blanks :

(ii) aﬂamt)vﬂaﬁa___aﬁw%ﬁﬁa@mén | |

Bt toxin is produced by bacterium

high frequency, it is called
—_— 1
(i) @W%Wﬁwwwmﬁﬁ?@h@ammﬁmwmaﬁw
& Tt €, g 2 l
* When a species becomes extinct, the other plant and anima] g I
ec
it is obligatory to extinct, is called PEcies associated with 1
3. ﬁwm%mwmmmﬁﬁtﬁm: e @%
Give the answer of following questions i a word or g Iine,::;'_.
() H-sheifreht = afenfa S | ., o
Define biotechnology. : 2; ‘l 1
{ B

i mm%IAaqa‘maﬁméi:ﬂFﬁamwﬁ T daf
&) e PR T e 21 24y

Which will be the blood group of the progeny geting 14 111 .

| , g 12 allele fr ;
allele from father 9 s O mother and ¢ 1
(ifi) STRATERE Y ufvmy frfaw |
Write the definition of biopiracy. 1
Which colours cannot be discriminated by person in 'co]our-blindness 2 . )
Define innate immunity. p o . 1 !

5 S_42~Bl'0.,
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SS‘42-Bi0°

5

(vi) JTERTERA: TR ST (GMO) ! aheiya Hifve |
Define Genetically Modified Organisms (GMO).

(vii) 95§ S 71T (WR) % e g vern g g 7

Which type of pyramids of biomass is found in the ocean ?

(viii) STET T TRV T8 7
Whét is ex situ conservation ?
g ~-¢
SECTION -B
T I W9 (ITR 315g HIAT 50 V)

Short answer type questions (Answer word limit 50 words) :

fpedi i it e w1 m fafaw | ?‘

What is gene gun (Biolistic) ? Write ifS one use.

et TTe 3 whig i Feegyt forg ferfa |

Write any three important points of beekeeping,.

g ST T R 7 Y T b Q) 98 FEIR |

What is animal breeding ? Explain two aims of animal breeding.

ST i farehie 1 HRIT FHATRT |

Explain the reason of population growth explosion.

areeh & T O Bg A fehe) T ferRINaT h TwEST |

Explain any one feature required to facilitate cloning into a-vector.,

Frfrea i Sg-tefireh o forelt T IR <ht TSI |

Explain any one application of biotechnology in medicine.

Vit Y+ Yh=1Y

Ya+t1=1%

%+%+%=1%

hth+ = 1%

1%

1%

1%
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12

13.

14.

15.

7.

16.

6

ST ¥hd: T W & IeATe o i ol @ feafay | foreht weh argafiera: wumaia 18
1 IETET QT | -

Write any two advantages of production of genetically modified plants. Give any one
example of genetically modified plant. Yt +¥%=1%

Sta-ferfererar Y a1t 1 U S THEmET | ; ~

Explain one cause for the loss of biodiversity. 14

il TR wea @t sreeen # g 8, 9emsy |

Pyramid of energy is always upright, explain. 1%
TR Sig 61 SHfeyep 3earg 3 o qfER R 2

What is the role of transgenic animal in the biological product ? 1Y%

St -fafereren 3 sy 8 ey wies w1 i Hif |

Define species area relationship patterns of biodiversity. 1%

wE—d
SECTIOI\{ C

-'\

aﬁﬁﬁqm(wwxﬂm 100 ¥Ts5) : /%S
Long answer type questions (Answer Word' hmlt 100 words) :

ﬁ%mﬁmﬁmlwmﬁmm%amml

Define asexua reproduction. Wnte etyvo ‘examples of Vegeta’uve propagule in flowering

plants. ' : 1+2=3

FYE/0 4
Ww@mmi%ﬁwﬁml

Define sexual reproduction. Explain menstrual cycle.

ST <% forarm <t wie ant <) wmmrEn & wwEmsT |

Explain the law of dominance by the help of Punnett Square. 1+2=3
JYaT/OR

e} THIOT Shl ISR G HHETSC |
Explain test cross with the help of an example.

55_42-Bi0.
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18, Teelt T et~ T BT T FARAT | Ser-aTfed W <ht AT 5 IUTT THSTST, |

Write the name of a water-borne disease. Explain preventive measures of water-borne

diseases. 1+2=3
31Er/OR

e S i 3 ra B S TR 1 T Sare R |

Differentiate between active and passive immunity and give the example of each.

|UE -3
SECTION -D
FreTaTs YT (IR e i1 100 W) :
Essay type questions (Answer word limit 100 words)

10, e iepe T & 7 G o) T U T | T T teh ehEr ST ATHITehdl o1 TS |
e 2 Describe the structure of stamen. Draw a labelled diagram of a
1+2+1=4

What is floricultur

ical stamen.
oP FYd1/OR

e - e 1 © ?mwﬁmw@% | & feafisrelt o it ww=
1 AR T2l SET | |

What is post-fertilisation €
labelled diagram of dicot em

20, g @1 afea HT Imﬁwmﬁm%mmlmﬁém

ImRga o 79T | =,
Define transcription. Write the name of parts of transcription unit of DNA--,Dr,aW a
unit. 1 + 1 + 2 =4

schematic diagram of transcription
JYa1/OR

ffsierss & T fET lﬁ%ﬁm@mﬁ@wﬁmw | et
S w1 ATieRa o SR |

Write the components of nucleotide. Write one sahent feature of the double helix
structure of DNA. Draw 2 labelled diagram of double helix of DNA.

w"

Q&%e&mbe the structure of plant endosperm. Draw a

SS-42-Bio.
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